2000m

N
1000
1l

Rl [R] [K]

500
N
A

PAS

A

X
RN

0
N
]
e
[ #=sgm




2000m

IR]

N
500 1000
1
K
B

e R
R - A




2000m

N
1000
1

500
N




2000m

1000

500

1l




500 1000

1l

L BEEES
L] ks
—ri-
Y
MEIEE




500

1000

s
] Ak
R
i 7Y
MIsEE

1

)" S N BRI e

A=Y

BRI 35—

BRI 22 b = v

il







R

500 1000 2000m

il

7K 35,
B
— 1
F == < MREE




500 1000 2000m

il

LB R E
N
— U1 b
] ks
—-1
—
MRFEE




Z=

EeSiCs

e

g

1%

0 500 1000

VT v H B R A R
J¥# 5 £ E YAk R | BB (ABD | B® (ix)
UNTE'S: ]
1 BRI 2 ) o5 ] 0 R R M 2. 66 691.6
2 MRINEEARE— | KBRS kit Ol M 0.45 117
3 | g | BIORREN BRSCARER ey 013 3.8
4 7 [MES/N I &ﬁﬁ%ﬁ%gﬁéi)ﬂlﬁﬁﬁs & ki 0.06 15.6
— 73
it 3.3 858

il

D #ixsas
L X
L] AR
R R =T
RE: S i
R 3

—p =1

o SRR
MXRISEE

S

B = B &



